Class notes for Class #8 (March 26, 2015)

justify = control + J

	Table 1. The Relationship of Salmon and Bears

	
	# of salmon
	# of bears
	

	Mason
	253.45**
	17
	

	Roosevelt
	12.5a
	5
	

	Kensington
	-12b
	23
	

	Note. The actual relationship of bears and salmon is unknown because we can’t find any salmon for our one bear. 
[bookmark: _GoBack]aRoosevelt ate only a dozen salmon. bKensington, however, gave away all his salmon, which is indicated by the negative sign. 
*p < .05; **p < .01; ***p < .001.
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